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Algebra 2 Prep

Factoring
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Factor the common factor out of each expression.

1)  12x2 - 9

3(4x2 - 3)
2)  2 - 8p

2(1 - 4p)
3)  4n4 - 5n

n(4n3 - 5)
4)  25x5 - 5x

5x(5x4 - 1)
5)  n2 + 5n

n(n + 5)
6)  18u4v - 30u3v - 6u2v

6u2v(3u2 - 5u - 1)
7)  30y4 + 30y2x + 20yx3

10y(3y3 + 3xy + 2x3)
8)  12y2x5 + 12y2x - 2y2

2y2(6x5 + 6x - 1)
9)  60y15 - 48y15x + 6y17

6y15(10 - 8x + y2)
10)  -14x9y - 20x5y2 + 10x6

2x5(-7x4y - 10y2 + 5x)
Factor each completely.

11)  k2 - 10k
k(k - 10)

12)  p2 - 6p - 7

(p + 1)(p - 7)
13)  v2 + 3v - 4

(v + 4)(v - 1)
14)  n2 + 9n + 72

Not factorable

15)  n2 - 5n - 14

(n + 2)(n - 7)
16)  n2 - 12n + 20

(n - 10)(n - 2)
17)  v2 + 13v + 36

(v + 9)(v + 4)
18)  n2 + 6n - 40

(n - 4)(n + 10)
19)  n2 + 5n - 14

(n - 2)(n + 7)
20)  n2 - 13n + 42

(n - 6)(n - 7)
21)  p2 + 6p

p(p + 6)
22)  n2 + 4n - 5

(n + 5)(n - 1)
23)  n2 + n - 12

(n - 3)(n + 4)
24)  b2 + 4b - 21

(b - 3)(b + 7)
25)  p2 + 5p - 36

(p + 9)(p - 4)
26)  2x2 - 19x + 42

(2x - 7)(x - 6)
27)  7n2 - 65n - 50

(7n + 5)(n - 10)
28)  3n2 + 10n

n(3n + 10)
29)  2m2 + 11m - 6

(2m - 1)(m + 6)
30)  5b2 + 7b + 2

(5b + 2)(b + 1)
31)  7b2 + 6b

b(7b + 6)
32)  35x2 - 190x - 120

5(7x + 4)(x - 6)



©G \2Q0O1e8H ^KsujtaaT _SboxfXtmw`aTrTeW OL[LFC[.S i SABlSlj mrFiugVhOtUsR UrbepskeQr^veeqdH.F o oMLaIdIej DweiFtIhZ RIun]fOionqiztyex fAtlTgPeRbwrIab p1W.

Worksheet by Kuta Software LLC

-2-

33)  7n2 - 5n
n(7n - 5)

34)  10m2 - 102m + 108

2(5m - 6)(m - 9)
35)  7x2 - 10x - 8

(7x + 4)(x - 2)
36)  5x2 + 31x + 30

(5x + 6)(x + 5)
37)  15x2 - 3x - 9

3(5x2 - x - 3)
38)  2x2 - 11x + 15

(2x - 5)(x - 3)
39)  5n2 - 31n - 28

(5n + 4)(n - 7)
40)  3x2 - 14x + 15

(3x - 5)(x - 3)
41)  x2 - 25

(x + 5)(x - 5)
42)  4m2 - 81

(2m + 9)(2m - 9)
43)  81 - r2

(9 + r)(9 - r)
44)  1 - n2

(1 + n)(1 - n)
45)  25a2 - 16

(5a + 4)(5a - 4)
46)  9p2 - 4

(3p + 2)(3p - 2)
47)  121n2 - 81

(11n + 9)(11n - 9)
48)  100n2 - 121

(10n + 11)(10n - 11)
49)  121x2 - 100

(11x + 10)(11x - 10)
50)  49r2 - 16

(7r + 4)(7r - 4)


